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Question 1 of 54

Choose the correct answer for each question. (20 Marks)



Which one of the following has the digit 4 in the hundreds place?

A) 154 708

B) 342 951

C) 482 751

D) 732 458
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A) 0.24m

B) 2.40m

C) 24m

D) 240m

Question 3 of 54

Which one of the following is not equal to 1.4?

A)

B)

C)

D)
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A)

B)

C)

D)
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A) 0.08

B) 0.12

C) 0.125

D) 0.135

Question 6 of 54

Find the value of ( 8x3) - 14 + 50 ÷ 10

A) 5

B) 6

C) 15

D) 39
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Which one of the following shapes is not symmetrical?

A)

B)

C)

D)
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A) October and November 

B) November and December 

C) December and January 

D) January and February 
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A) 26

B) 64

C) 116

D) 154
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A) 21 cm2

B) 30 cm2

C) 36 cm2

D) 60 cm2

Question 11 of 54

A) 5 : 3

B) 2 : 5

C) 3 : 5

D) 5 : 4
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Mrs Tan baked 250 pineapple tarts every day for a week. Then she packed them into boxes
of 50 each. How many boxes of pineapple tarts were there?

A) 5

B) 25

C) 35

D) 350
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A)

B)

C)

D)
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Mrs Wong has 100 stickers. She distributed them equally among 5 groups of students in her
class. Every student received 5 stickers. How many students were there in each group?

A) 25

B) 20

C) 5

D) 4

Question 15 of 54

A) 360

B) 720

C) 1080

D) 1800

Question 16 of 54

Write 5 245 067 in words

Question 17 of 54

302 721 = ___ + 700 + 21
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Question 19 of 54

Please type "done" to proceed to the next question

Question 20 of 54

Mr Lim buys 1.3 kg of flour. He packs the flour into packets of 200g each. How much flour is
left?
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Question 28 of 54



2 ptsPrimary 5 Maths (Term 2)

2 ptsPrimary 5 Maths (Term 2)

Question 29 of 54

Question 30 of 54
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Arrange the following numbers in ascending order 



2.078 , 2.87 , 2.087 , 2.78

Question 32 of 54

Which one of the fractions is the greatest?

A)

B)

C)

Question 33 of 54

A fruit seller bought 1512 apples and packed them into boxes of 63. He sold each box at
$19. How much would he collect if he sold all the apples?

Question 34 of 54

Find all the common factors of 12 and 18.



2 ptsPrimary 5 Maths (Term 2)

1 ptPrimary 5 Maths (Term 2)

Question 35 of 54

A school with 74 classes aim to collect 2000kg of empty cans in a year. Evert class collects
the same mass of empty cans. What is the mass of the empty cans to be collected by each
class in a month? Express your answer as a decimal rounded off to 2 decimal places.

Question 36 of 54

Jane is facing the school. Where will she be facing if she turns 225 clockwise?


A) school 

B) mall 

C) library 

D) train station 

E) community centre 

F) park 

G) church 

H) police post 



1 ptPrimary 5 Maths (Term 2)

2 ptsPrimary 5 Maths (Term 2)

Question 37 of 54

A) school

B) mall 

C) library 

D) train station 

E) community centre

F) park 

G) church 

H) police post

Question 38 of 54

At a gathering, there were an equal number of boys and girls. Then, 24 girls left and 15 boys
joined the group. At the end of the gathering, there were four times as many boys as girls.
How many girls were there at first?
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Question 40 of 54

Question 41 of 54

The ratio of Nura's age to Amy's age is 5:4. Three years ago, Nura was 12 years old. Find
the ratio of Nura's age to Amy's age in 8 years' time.
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A total of 168 sweets and chocolates were packed equally into 14 bags. There were 6 more
sweets than chocolates in each bag. How many chocolates were there?

Question 43 of 54

The ratio of the number of twenty-cent coins to the number of fifty-cent coin in a box is 5:2.
The total amount of money in the box is $10. How many fifty-cent points and twenty-cent
coins are there altogether?

Question 44 of 54

A) SA 388 Ringa Air

B) GA 587 Getstar Air

C) ZA 912 Zoot Air
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How many options were there?

Question 46 of 54

It takes 3 h 55 min to travel from Singapore to Hong Kong. Which airline should Mdm Goh
take in order to reach Hong Kong at 19 35?

A) SA 388 Ringa Air

B) GA 587 Getstar Air

C) ZA 912 Zoot Air

Question 47 of 54
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A) January 

B) February 

C) March

D) April 

E) May 

F) June

Question 50 of 54

In June, Hassim sold twice a many books as in January complete the line graph.



Please type "done" to proceed to the next question
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Hassim made a profit of $2 per book sold. How much more did he make in May than in
February and March?

Question 52 of 54

Question 53 of 54

At a birthday party, every girls was given 4 cupcakes while every boy was given 6 cupcakes.
There were twice as many girls as boys at the party. A total of 700 cupcakes were given out.



a) how many girls were at the party?

Question 54 of 54

b) An adult was present for every 10 children at the party. How many adults were there at
the party?


